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- Maximum : 60 Scores

Tlme 2 Hours
Cool off time : 15 Minutes

" General Insfrucfiens to Candidmes
_ @ There is a 'Cool off time' of 15 mmuteb in addmon to the ertmg tlme of 2 hours

@ You are neither allowed to write yvour &nswers nor to d}.seuss anything with
others durmg the 'cool off time'. '

Use the caol off time' to get farmhar with questmns and to plan yemr answers.
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TIONs are compu"sory and only internal chmce 1s allowed.
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@

® z=ad the questlom carefully before answemng
%

—

Vv hen vou select a question, all the sub- questwns must be answered from the

} Jeheels qu-_ stion 1tself. ' ' |

2 (alculations, ngures and gmphs should be shown in the answer sheet 1tself
Maiayalam version of the questmns 1s also prowded

@
® (Give equatmns wherever necessary.
=~

Electronic devices except noqprogranﬂmable calculators are n_ot aHowed in the
Fuzaminetisn Hall '

@ fﬁii@giffﬁuﬂ DAQOWIM  aloen 15 aﬂm:; ﬁé@% ssom 6650 ©M3DWIElH6)0. @fa '
MWD B2IOBYETBUDHE 2000 ngmczmo mg;@gmmgmcw’] @0 allmlawe
MSEMOEMD aloglal, - "

, @mmsmc.% a@@é@)mmﬂm mgcm B2lOB\ERD @@Domﬁgo Q,ocoﬂcemsmo o
8 ag)pi0 G2I0RYMBMDEN)0 QOMMC ag)¢i®memo. DEREM @ ealoe’my @o(®6D
"@mmgmeqm&oe;@@g; I _

® @0 caIosyNMd @mm@m@%@acﬁ @@mamsgmé gesgﬂamom% Ol G2 IOBYEIRE)0

@UE® 62103y maualed oy @6 a@mms&@mm@om R
@ Bemaes B3ened, 2N@eBd, (o &b, cgarias pemo @m%oﬁcﬁ%mam

' Qengocnﬁm'lce@mo o B _

® ODOIDES COLIETS mmmaof%m@ 6E0SBOEMo.

® G2lE)m nelwoammlage m@deleligens |

@ BIDNIWBD H2IQOIMOMOBH @30@&@&@@@0&5@3@ eﬂmg&@ggg B0

. @e,ceo@(soam'ic& Q&Jc&@ﬂi’)m&o mmﬂmomog’]m @m@@ow'lceﬁ)gmocﬁ 0_!08']%

K-10 . o - (@T0)




1. kil in the blanks. T Afls@omo ali@laflee)ss.

~ Venturimeter : Bernoulli's theorem suemAdigh : eenidcemoglny @mio

Hydraulic Tt : .o (1) £6008WOEIES a8 ¢ v (1)

| 2. (d@Ow EImOIM @leesmms)e
Q)P L. | o |
) aloRWM (IEito BIElWIeSs

9. Choose the cOrreCt-alternativ_el. .

-a)' Esca‘pe- velocity -is_ind-ép'eﬂd'ent__ -
of the mass of the earth/the

- e 1 aNlemawe e /cuaioyadlen
mass of the body. 1|

aJlemawec® @purelen gl (1)

b) Gravitational force / weak b) mgmg@p&&mﬂﬂm enleio/3)denel

MG Wod enitio @ET aRRALO

nuclear force is the weakest _
fundamental force. B (1) | 3)denIel0w @OSIUOOM etlo. (1)

3. Complete the table. - (4x2 = 2) | 3. agle qg&am’]mece@gcem - (4xY% = 2)

Kelvin scale | Celsius scale Fahrenheit scale

o ' - Temperature
' o@D M@, |

@@nﬂﬁ”odﬂac@ @O eMLEdaUYTY EPQIIG Jalvl(dattella) Q@

| _Steam:point,
@l eatoFld

Ice- point _-

iiiiiiiiiiiiiii

o - ©ag) eatoeflaicd

“I'" Absolute zero S
- - —459.69°F

- edalel alvmyeoiad

4. " The centripetal force on a body 1in 1 4. udemg g@mm’kﬁ BDOIURYDOW)
circular motion is given by = | . @EIEE(3 NIRITTIOM VOO0 .
5 I ' L @08Y ®IElEaIM].
mu _ * - .
A= . o | N mu?
a) Write the dimension of force. - (1) - r _ _ :
| ' a) enielaElom eeamdaum® agR®ie. (1)

b) USingrthe above formula, write - |
' b) @y&alo  omMeleeim

an equation to find % error in o o
| U@ DN sOoUWle] @oEIGH((3

 centripetal force. = f
' P o - . - (1)  ENURIETIMIeNE0SHI0IM a.p@m@c@a”

" ¢) What is the number of  agod  eenmalislenymalnies
significant figures in 0.050 N2 (1) | cvocndyp mdes. (1)
' D ' C) 0.050 N @ osg cliriladendd -
adlNONBHEIOS ag)sRo ogE@oe. (1)




5. Tne graph’ below Shows-how the 5
force applied to a metal wire is |
related to the extension of the wire.

force /
aYN
a) Write the letter that
corresponds to : (2x% = 1)
i) Elastic limit
1) F facture point
b) The wire has an unstretched '
lerngzn of 240 m and an area of
cross zscuion of 3. 90 x 107
Determine the Yomwv S modulus
Y of the materla]_ {(2)

6. Accordmg to the kmetlc theory of | 0.
gases, gas molecules are alwavs in '
random motlon.- - l o
= State the law of equipartition of |

ShEergv | ' (1) o
b) What do voumean by 'mean free - |
path'? Give an equation for the '
mean free path. | - (2)
3
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40 45 50 55
_ extensnon{mm} '

a) o6y o_locwg,mmmcm mggﬂ@ce@gm

‘(HTO-:B:S:‘!(’OG 0@)‘9&@&&3 - (2x% = 1)

i) ,@moaugloe; elalg

11) (@001 @momﬂ@

‘b) enuelo mm%&5m@1mg, @)oot 1[04(@;3,@

oeam_ﬂ@g@s m"l@o 2.40 fzﬂgogo n_J(B'](B_%gB _
m“lf@"!&b%o 3.90 x 10°7 m? 80

= re@asmae;]m%m@ @uof:-.om’la@ @oUFTS

cmoaneITS demdeoeye.  (2)

aacéamg'lce;‘;‘ willel @mmgqum'lg QIO® s

- ODBRO@ER - af)ROWEa NP0 (HA0asI®

aleINETeioens.

‘a) GR 80l SdlaiodSlaum &oad

ag)Md (e IqOee) s, ._ B ('1)'
b) ‘ol d atomw’ 'hg)ﬁh@gaaeodmé’
SEle mm&)mmoce@,m@ ag)om?

mmasﬂac@ fmﬂijcﬁ:AO mm‘éc@%oea ' (2)

(P.T.O)



k “a) Isit possible for a body_ to have

N b) Draw the velocity — time graph

Accelemtmn 1S defmed as the rate

~of change of veloclty

'aCceler'ation_ without velocity?

Explain.

of a body moving with uniform

acceleration 'a' and initial

velocity V.

C)'%'Us_ing the above graph',_ obtain

the 'equ_ation for displacement in

| time 't'. .

. Earth satellites arelobjécts qw_hi‘ch
revolve around the earth. ConSider -
a sa‘telh‘te at a height 'h' from the

_Surface of the earth.

c). Distinguish

ca) -Gi—fi_fe an equation for its orbital

Velocity. '

. b) Obtam an equatlon for the'

pemod of- the above satelhte

between
~ geostationary satellites and

- polar satellites.

OR

‘The value of acceleration due to

gravity is maximum on the surface

| of the e’ar‘th.

| a) Write the relation between

acceleratlon due to grawty and

granta‘twnal constant.

K-10
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(GO QY@IOTOET O osslon

@8 ®I06Mo ag)fmg IO,

a) 60} mqggm’lm LQ_J@O_IUJO @ggoe;ﬁrm
®jO6mo mowémoesmo‘?

o_ﬂuaé]aé;(o'loemoea.
b) V, Lmomo(g(o_lcgmcomgo 'a’ @M
' @jmemmg,d 088 60} aiqae

IBOUIM-VAW ([(D0ad QOB

(o SaleOWlol T
MA@ HEMEIBLTN AUOOMIADRO
~ HoemIM @M es  UAQIOE:0

@20]10@ 6.

@)0lle6) 21)Qlo HOTBIM AUYHHOHBWOEN)

B0 @oJqubsmo% 'oi,g)(mg, mowgmcm”,.

@gm'lm)g,as Qo_lm'l@mm'lm‘é llespte ‘ﬁh'

@@mmmeiggg 0] 6o (Da0OED

Bl H6) 1 bs.

a) aoolem ‘@odenig@d scusaomigl
(D)
'b) FLo_-lO%gg(ﬁ) @o_ltwciom'}ec@ o_ﬁm@au”

WIS MVROIOE0 M),

aemyB®BR cdadle] d@@g@gﬁs.
®0 6 4 o651 @
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cog@gfm_locﬂa&mﬂﬂem @Jmemcmﬂan@ aflel
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by Obtain afi equation for the
variation of 'g' with height.

i Draw a graph showing the
variation of 'g' with depth and
height from the surface of the

earth. Assume that the density

of the earth 1s constant.

The figure shows the pressure —

volume relationship of an ideal gas
that undergoes a Carnot cycle. The
- process B to C takes place at a

constant temperature of 1000 K and

the process from D to A at a

constant temperature of 500 K.

a) Name the processes occurring
‘between - '

o 1) Aand B

ii) Band C

b) During '_Which of the four
processes, is work done by the

o35’

¢c) How can you find the total work
~done during a cycle from the
graph? '

d) Calculate the efficiency of the

cycle.

K-10

(1)

(1)

(1)
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(1)

b) @@fﬁfm'immgmmﬂ%”' ‘g wes

Qlleiolengs mogo QUYHMAOHOHN

(2)
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- udle@0eeMOT) d0)®)d:.

ce;oﬁcz'mog”  eemsensld

HSMMNICIDEHIMM  B0)  eaf)Wlad

_cjncgocm"l-ac@ ndG-yoql  eaqwmoem
- al@eml@ ooimilaldemnme. B old

m’lrmg,o C mﬂeeleea@g@_s(@ﬂw 1‘000 K

ag)a udlenoed@oalene D @@ alang

(1)

I céaés"l |

A leeiones @l 500 K agmm '

mudlenoaimonenmoeny msma. -

a) @06)? aloym enflo3)endeslsedd
MSMN (DR HRIOS EalOVLI.

1) A @ B W) @S@Qﬂ(ﬁ% -
i1) B @o C Qo eoswidd

b)) aflleowldd aeaosrnflg’lm'lcem&m_ moeln

(/B W G1T oR@IeeIe LSOO
QUOBE0 (IO H21Q.

(1)

e

c) Lmom%ﬁ% mlimnyo saimg, aam@esﬂglroﬂ -

)21 ® HAOTMo
. BHENBINOLMNODEBOMN?
d) e  eamesigleo@d sxam

BHEMBNOBENB.

- (P.T.0.)
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110. 2Neowd 2,06 21 B BHLTN BYBIOHEN

L a3@) aUimilud eralBauelcTdlan eerudemilem
X & wloingo ¥ @ a@»ﬁ"mémﬁ@“lmg
BUOAYO o_ﬂsg(mg QQJ(T%CngE:JQ Y @t ailongoe

7 ceiedo (m’lczﬂ%;& Y seisogo @a0aImo '

10, A simp'ié penduium starts with 1its
bob at position X, shown in the
figure. The bob 1 1S pulled aside to Y
and then relﬂased It swmgs ffom

Yto Z a;nd back to Y. -
' - | 21PN, -

 support <z

thin cord ——' .
. | : * \
%
%
%
\
' ' "-“h"‘-m ;ﬁ;\ ##"ﬁ Z
X

a) (UoenEl@ aimmie ERMIEWIEROT

Ia) Take suitable words from the
AIBERB a)Syon Qllg)salo® oMo

bracket and fill in the gaps.
' ' ' ' i)l

(p@te’ntial, constant, kinetic,

. B ((ﬂlﬁ](ﬁﬂ@c@ﬁ(ﬁ?%(}, qudloo, 03(3}1(358-;0@;%@,
different, work, resamance)

QLY®ITRO; ladau o, anamsma%m”)
Bob em X @ mimmgo Y celoe;
OGHIEMBOIRIM BOTIEE ... 0.0 1IN0,
@oealo®  @e@laqg ... ouhezo
Adalenmy. @S @ X CRIEE)]

_ D_Jeﬂaeag@ﬁuocfé e ©ThREWIC
'&goq_,_i”; BOUIO ivieninnens oodbzaowl
@oogrmg, Y @@ amlomie 4 RIS
@i @124 Y BEI09188 cacat)mmcamﬂm%

£QOBDO gm‘é%o ........ mmﬂm‘lcmge
(4)4% = 2}

b) Bob ac@ _mmomo - X @
(@@cﬂﬂmﬁcﬁ@g@mocﬁ (mmac@ @®jOEMo

T@ move the bob from X to Y,

................. has to be done on itand
1£S oeeee .......energy increases. As
it moves from ¥ to X, some of this
energy 1S Converted to s |
energy. Throughout the swing

~from Y to Z and back to Y the _
total energy 1S Leveeeients (4}(1/2 = 2)

b) What 18 the accelemtmn of the |
bob When it is at X7 ' - ()

(1)

C) What aredamped_ osci;llatiolns? -'(1)@‘@
- - N * R G)OQOWIRIBEL0.
¢c) damped os;,cﬂlati‘ons af) (MO @
ag)T? - (1)

K-10




~11. The equation for a wave 1s given

helow.

b) Draw the statlonary waves 1n a

:tr@tched strmg in the second

harmonic. |
c) Show that the fundamefltal

frequency of an open pipe 1s-

twice  the fundamental_

~ frequency of a closed pipe of the

~ same length.

»

gey

2) |

12. Aand Bare 1;&1;70 objects moving with .

" e

velocities V, and V..
a) What is the velocity of A relative
ro BY

b) Rain is falling ver‘ticiaﬂy with a
~speed of 35 m/s. A woman rides
a bicycle with a_ speed of 12 m/s

‘v the east to west direction.

T

Wor

i

- iz the direction in which

=
i
j—

'_

:~e should hold her umbreﬂa’?

c) Assertion " The range of a

pro;ectﬂe remains the same for
the angle of prOJectlons 30% and
60°. '

Reason : The range"does not

depend on the
projection.
Choose the correct answer :

2+ BRath assertion and reason are

correct.
"B : Both assertion and reason are
- wrong. :
C: Assertlon 1s correct, but reason

is wrong.

D : Assertion is wrong, but reason

~ is correct.

K-10

angle of

® |
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12. V,, ;-VB

roeRITlENM Q6NE] QUREHR0eT A @0

11. ew @momm'le)c@ (TU@OJD@B%G DO
_cmn’im’loeﬁ)&mg, |

Y= ASm(kx +wt)

a) @@ 21BN ®OOMAIEEND EREMD

. olvmiel @onmoeemo? |
b) cquefialy m'tfém‘lmﬂm’lﬁmm a10s1@h
O6NROMIM  mlumial ® oW eBHg

second harmonic &oemlenyom

afl®o QOB

_'c)- B0} Open plpe me.l' mS’Ichmom"

eROEE @re® (lames eo) closed
‘pipe ol @oSIMOOM EHOL)ETIWOS
SDEZIWOHEMT H:06MB)E:. '

" e C———— ———

) ag) (M|

B QJjo. |

a) B cmgmomﬂ @Oﬁ)@ﬂ)éa am%enugo%
A @s el a®@? . |
b) oy emen ®OGYHS 35m/s . UMD

o/} @ mcmﬂoe@ém& sy ) ®of)

- eeqesgla 12m/s g o @
@19 HEOH MM
'm;srmm’]éagmg, 2% MO@OwEleadd
aold a@®) clrewlciowlalanemo
@O NS mﬂsﬂ@mmm‘) o

C) (adaROCUM : 300 mﬁrﬁ% a@oﬁmse}&a

60° i a@ﬂ’imoaga 8]
‘projectile o range ®eydo

- oidleap. o -

(aleInE@

alSlemmHOB00S
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~ @oemo : 8o} projectile o0} range

@@ af)OlWeqSMm  8&EMIOM
@ U@Slenmig)
PANWOW Qcm)roo B OOETTNSEE)Es.
A : (IROQIME@Y0 EH00EMARO RE@oe.
B : (@IqQoaim@ie &006Maljo SD®EFOEM.

C : (lqgoaim EI@OEM, aledH
 £006M0 OO,
D : (RO emROE, alGHY BO0EMo

Vo@IUOeM.

(D
(P.T.0)
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-~ 13. From the _tabl_é -givﬂe'n below :- - . 13. moey ®MIIClEN 015l §aleWIUlle]
.l Displacement(M) =
quaomoamo (M) '
_ .ai) Draw the force — displacement . 2) aué-—momonmm hoal QIR 29} ~ (1)
graph o . B ;(l)
b) (adm® Lcoom’lm% mimio ©.a1QeadS
b) How can you find the work done _ (@ g)sTBeM £enz)afisleado. (1)
from the above graph‘? I ﬂ) ' c) enielo Lm&cmoo_z’l&mamsgcm&aa@%’lelgo
' (el o] m%abmomm'\cemgm

c) Suggest any two situations 1n _ _

‘which the work done by 2 force oGO =e° mﬁg ®bEmRE
| DIOCRUBIRE. ‘ (1)

1S Zero. | (D] | - |

| d) aoy alqafiom  agibaem 00l ®

d) A body is pushed with a force of

3N for 2s along a frictionless

- aoflaes 3N GMILI0 OIBISYOD 28

BNOEEIHHE) cmgg’lacamm%@o_loaea&mg,

velocity of the body against time. AN @06emlaidlenymy. '
velocity/ ms“‘- o I ' .' -veioci‘tyx’ ms™
0 20 .70 Y 6 20 7.0
time/s L o A time/s
- How much _work 1S done by the' ' - SNIRIo 6)9_1@;’@ IO af)@@OSEMIN |
force? ' . @ eemesosas. _ (2)
14. Mement of inertia is the analogue 14. afiemu@oimy Madmadw! rotational
‘of mass in rotational motion. But o motion @@ Moo 50l 3O £OLM
unlike mass, it is not a fixed | @OSOEM Moment of inertia agmoad
qaantlty R | '. Nemwamld@ @l QUEYRAOV

Moment of inertia £6 6®] W

a) Momen‘t of - 1nert1a can be
@8l

a) rotational inertia  ©@6S

CﬂJ%QJcﬁaﬂJOCQﬂ Moment of inertia

regarded as a measure of

rotational inertia. Why? (1) |

_ - o O aldlneilando ag)amg,acﬁaom‘? (1)
K-10 - 8 '
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—_ g — dj 'l'\-u. .. — di‘_ wip " 5 upE — iy “g
Al oy £ o S o e ™ 10N
TRTE Y TWO 12000l QL Wi

-

-~e moment of in ef‘“‘"w of a g:zd;

body depends.

The mementg @f mef‘tm Of two
rotatmg b@d}.es A and B are I,
and [, ( A_> I ) and their anguiaff
momentum are equal. Which
one 'has'a creater kiﬁne‘tic

energy? Explain.

15. The viscous force exists when there .

is a relative motion between the

layers of the fluid.

a) State true or false

an 1ncrease 1 temperature.”

| M T . + Fair ) =n
— B IR R R S T R T T R i S Il T S o e tEEa _
(T '! |-.___.' L - :_'u. [P — _"‘-- —_ — - [EUR I - —_ - : —f e -._J'l -ip— —I-—-"h..l'-'i-.‘!— - h )
- - 1 H
ooz - tes emoinad by an
R T .. i h ke = e e e e -_._-.- - N . - ';:_ — '\-'\_.--_._-...-.u-r_a& b
. ]
cop folling through a viscous
i e __f__.-"‘__ R :'-;33 -L_ﬂ__‘*ll i __r' .d'.._. .F:L.?' 'Ii.rl_:: "a.'ll’l ! v’
- n -

¢) The Speeé’i — time graph

faﬂmg sky d.ver 1s shown below.
ring tihz fz2ll ne cnens nis
) parachm&

. Which part of the grapn shows the

sky diver falling Wmh terminal
‘velocity? S
OR
K-16

"The

. viscosity of gases decreases with

of a

@)

3

1)

- ey

19.

- avyallofleanymae.

1195

b) e rigid body wps moment of

iﬁertiam‘@@mﬂﬁ‘}gm Q@@@%g@&o '

613} masce;mcfb a@*ﬁ?&iﬁ)&cﬁs j (2} -
c) ﬁuomgmsmﬁmﬁmgm A B Qg)m’ﬂ
06NBY mcgggce@ggas moment of
mertm I, @0 [, @0 (f > 1) @oeny.
@pcloles angular mqmentum

@RLYMOEEME®IMs B)SYOTD w@'lcsce:t)(ﬁ%d L
(2)

' @g@@ @'@Eéc%)om'? (lﬂ(m(ﬂc@amflceﬁ)&ﬁs

£0) {_emm"lmc@ Qﬂoﬂw m@@cﬁa@ mm’lm%

relative motion dﬁﬂ@@cﬁa&@ﬂﬁfﬂﬁh

oy erielo loudomiieniom).
2) CleWd OMERD o IO,
“momaceafmggmé | m’lcﬁ‘u”@oe:é(m’lgl
HVHMOOS  HsIom@immymoela
)OI . '

(1)

80y QUGN 2oWnemIeIes

®oeYHe) Uy oy asaqadla’
oidlemyom  terminal wvelocity
H6nsia lSleanmmaimies oY@ |

goSI@166))6s.

b)

, 3)
c) 60 ©D 000 205000
BUM-MR® (el ®06F -ﬁéam’l:gj
- dleeymm). ®oewogy aflimalimisilad

OB ®OHM aloralys allsdmamym;.

time

oanlem h@f‘ﬁ)g EOMMOET @I
terminal velocity @b Qﬂ@gm@’is}m

RO

- @6 el 8 md
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O!R' I o . @EReE| &M

There is.always an excess of (BOQIBODBEHBIOSWY0 LYAIBHHOSWYS

oagl® ndgo @)si®anRdleo.

'pfessure-'inside drops and bubbleﬁs.
- e a Uaco']@cwo OOERD af)N) alOWiEs.

~a) State true or false : "A drop of | ) _ o7 egyhd o _

‘hquld under no external forces momm)_lelemdb @aggaa;lm‘d 63{05

RE always spherlcal in shape (1) :f GoIE OS] @mogoceaé@'lw']euomﬂ

; ' ~ | _(ﬁr]cﬁﬁ)&O”_ | L | (1) |
. b) ‘Obtam an expressmn for excess S S
- - b) r-@oecip S oamieiio 988 B0}

of pressure inside a drop of B - . |
(BOOUSHETYSEOS HSBIelSa @OUI s

radlus r and surface tensm_n S. (3) ; | |
- R B . 0G0 BHOMIMEIMBR VM DE)0

c) Two soap bubbles A and B are o tﬁgo_ﬂce;m’l_o%)g,cen. S (3
| - ~ Dblown at the ends of a tube, as ) 9_-1']@'(6@1(0‘6 & oan'lg’lm’lmgmcmg
SﬂhOan below. S B B GQ_IOG)EJ 630} ce:.g)@_ﬂm@ ms‘r@gmomﬂ

. '-A b ag)mﬂ cscmo%g, aa:.&m’lgge:c%

_ @mom’lmﬂm’!mgﬂng

Choose the correct answer :

| : _When the biock C 1S removed

| o Ua(c'kmocm @cm)mo @ﬂmams BN,
1) the size of A 1ncreases and that ‘!’ ‘2'

of B decreases , ¢ QG)(m @5%0 @38&@07-’0@

.1) A wes alejalo ce:;s&oea@cgo B c.mgéus

" ii) the size of B increases and that |
E o o¥f=) Er)OWIHWIo 6).21QM]
of A decreases , e it e e L

' o 11) B apes aiejalo SIS A Wies

~ 1i1) no change occurs in their sizes

- QieRalo 'geﬁgbmﬁgceawga 639_1%%&

_1v)'1‘:he11f" slzesf_be§01fle equal - | (1) 111) GO @6)S mangMTm“ @ommomg

QB0 ooy

' 1V) mmég)es Qleljalo @PEHDOBIY (1)

- — — = —— = =
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16. We are famlhe_r Wlth N ewton's laws

of motlon

d) State Newton S second law of

motwn
b) Using the above lawﬁ explain :
1) Impulse-momentum

principle

11) Law of conservation of linear _

~ momentum

C) A circular racetrack of radius

‘300 m is banked at an angle of
159, The coefficient of frlctlon

between the wheels of a race car

and the road _i_e 0.2. Find :

1) The optlmum speed of the
race car to avmd wear and

tear on 1its tyres.

i1) Maximum permissible speed

to avoid slipping.

(D)

ol

(@)

7115

16. . MIISO MR mm m’ltwmsmdb mmgcﬂm
avgo_lm"lgﬂrmmosmeg;o '
a) Mmyused  oemoo | aieimmiac
(cucg;ocmoemg,oea o R (1)
' b) gl aloemm mlwao @ue@om']%;
_ -@Qw .mom)g(mm oﬁuaé'lce:m'loeegce;.
1) BYCAUN-@DHS @@Jo- . (1)
11) (GT@GBG) MoRB:sem Mlwas o (1)

- ¢) 300 digd QI 630} QLYo DN

U I ‘ba_nking msomlwle)

' SOIME) 159 (B&OG‘H’)'IQI.OGTT)U. 63(63 QB0
&001OR QJLcﬁ;mgge ld®@)o

- oalenes coeff1c1ent of friction

0. 2 re@sm
BOOP A lOWIMA BEMHNLN)Bs.
1) 2U@EmiBaameosm emwaome

alomoUW! aYlauosn oM @

- CQIO®. - ; S (1)
11) M3oemc65$g OM0C12)) BaldB:06m
@@ ce:oo'lmg mmm’?mom&m

n_lmmomw'l cuUm®. (2)
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